

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



OMB No 1545-0052

Department of the Treasury Internal Revenue Service

Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter Social Security numbers on this form as it may be made public. By law, the IRS cannot redact the information on the form.
► Information about Form 990-PF and its instructions is at www.irs.gov/form990pf.

For	cale	ndar year 2013, or tax year b	peginning 01-	01-2013 , and	d end	ding 12-31-	2013				
	e of fou					A Employer identification number					
FII	ELDMAN	SIMS FOUNDATION				38-3638470					
Num	her and	street (or P O box number if mail is not delive	ered to street address	s) Room/suite		B Telephone number (see instructions)					
		TLE RIDGE DRIVE	ered to street dudres.	, itsom, saite							
City	or town	, state or province, country, and ZIP or foreign	C If exemption	application is pendin	a check here						
		, MI 48302	C ii exemption	аррисацоп із репаш	g, check here F						
							_				
G C	песк а	Il that apply Initial return Final return	A mended return	f a former public chai	rity	_	ganizations, check h	•			
		_	Name change				rganizations meeting e and attach comput				
H Ch	neck ty	pe of organization		ate foundation			undation status was t n 507(b)(1)(A), chec				
<u></u>	ection	4947(a)(1) nonexempt charitable trus				ander seems	507 (57(17(17)) enec	, nere			
			ounting method	▼ Cash	rual		ation is in a 60-mont n 507(b)(1)(B), chec				
			Other (specify) I column (d) mus.	t be on cash basıs.)		under sectio	11 307(b)(1)(b), chec	Kilele F J			
Pa	rt I	Analysis of Revenue and Ex						(d) Disbursements			
		total of amounts in columns (b), (c), and (necessanly equal the amounts in column (a instructions))	d) may not	(a) Revenue and expenses per books	1 (d)	Net investment income	(c) Adjusted net income	for charitable purposes (cash basis only)			
	1	Contributions, gifts, grants, etc , rece schedule)	eived (attach								
	2	Check ► ✓ If the foundation is not re	equired to attach								
	3	Interest on savings and temporary ca	ash investments								
	4	Dividends and interest from securities	s	41,539		41,539					
	5a	Gross rents									
	b	Net rental income or (loss)									
Revenue	6a	Net gain or (loss) from sale of assets	not on line 10	117,262							
	b	Gross sales price for all assets on lin 545,987	e 6a								
ž	7	Capital gain net income (from Part IV	', line 2)			117,262					
	8	Net short-term capital gain									
	9	Income modifications									
	10a	Gross sales less returns and allowances									
	Ь	Less Cost of goods sold									
	c	Gross profit or (loss) (attach schedule	e)								
	11	Other income (attach schedule) .									
	12	Total. Add lines 1 through 11		158,801		158,801					
	13	Compensation of officers, directors, to	rustees, etc								
	14	Other employee salaries and wages									
SeS	15	Pension plans, employee benefits .									
Expense	16a	Legal fees (attach schedule)									
Ë		Accounting fees (attach schedule).		6 0 400		9,409					
	1	Other professional fees (attach sched				9,409					
Administrative	17	Interest		% 561		541		20			
ı St	18 19	Taxes (attach schedule) (see instruct Depreciation (attach schedule) and de	•			311		20			
Ш	20	Occupancy	·								
	21	Travel, conferences, and meetings.									
and	22	Printing and publications									
	23	Other expenses (attach schedule).									
Operating	24	Total operating and administrative ex									
Ψ		Add lines 13 through 23		9,970		9,950		20			
Ö	25	Contributions, gifts, grants paid		124,500				124,500			
	26	Total expenses and disbursements. A 0 25	dd lines 24 and	134,470		9,950		124,520			
	27	Subtract line 26 from line 12									
	a	Excess of revenue over expenses and	disbursements	24,331							
	Ь	Net investment income (If negative, e	ŕ			148,851					
		Adjusted not income (if possitive, onto	ar 0 \	i				1			

<i>y</i> .T	rt II	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only (See instructions)	Beginning of year			of year
C.			(a) Book Value	(b) Boo	k Value	(c) Fair Market Value
	1	Cash—non-interest-bearing	77.000		27.10	27.102
	2	Savings and temporary cash investments	77,803		27,18	27,183
	3	Accounts receivable				
		Less allowance for doubtful accounts -				
	4	Pledges receivable				
		Less allowance for doubtful accounts -				
	5	Grants receivable				
	6	Receivables due from officers, directors, trustees, and other				
		disqualified persons (attach schedule) (see instructions)				
	7	Other notes and loans receivable (attach schedule)				
		Less allowance for doubtful accounts				
<u>}</u>	8	Inventories for sale or use				
ΛÜ	9	Prepaid expenses and deferred charges				
록	10a	Investments—U S and state government obligations (attach schedule)				
	_	Investments—corporate stock (attach schedule)			1,488,05	2,202,486
		Investments—corporate bonds (attach schedule)	74,729			
	11	Investments—land, buildings, and equipment basis -				
		Less accumulated depreciation (attach schedule)				
	12	Investments—mortgage loans				
	13	Investments—other (attach schedule)				
	14	Land, buildings, and equipment basis				
		Less accumulated depreciation (attach schedule) -		 		
	15	,	3,916	195J	3,64	1
	16	Total assets (to be completed by all filers—see the				
		ınstructions Also, see page 1, item I)	1,494,546		1,518,87	
	17	Accounts payable and accrued expenses	605		60	05
	18	Grants payable				_
₽Ι	19	Deferred revenue				4
⋤	20	Loans from officers, directors, trustees, and other disqualified persons				4
<u> </u>	21	Mortgages and other notes payable (attach schedule)				4
-	22	Other liabilities (describe)				4
	23	Total liabilities (add lines 17 through 22)	605		60	5
1		Foundations that follow SFAS 117, check here				
		and complete lines 24 through 26 and lines 30 and 31.				
or Fund Balances	24	Unrestricted	1,493,941		1,518,27	72
影	25	Temporarily restricted				
8	26	Permanently restricted				7
<u>-</u>		Foundations that do not follow SFAS 117, check here 🕨 🦵				
뒤		and complete lines 27 through 31.				
<u>-</u>	27	Capital stock, trust principal, or current funds				
	28	Paid-in or capital surplus, or land, bldg , and equipment fund				
Assets	29	Retained earnings, accumulated income, endowment, or other funds				
	30	Total net assets or fund balances (see page 17 of the				
影		ınstructions)	1,493,941		1,518,27	/2
	31	Total liabilities and net assets/fund balances (see page 17 of				
		the instructions)	1,494,546		1,518,87	77
Pai	rt II	Analysis of Changes in Net Assets or Fund Balances				
1		Total net assets or fund balances at beginning of year—Part II, column	(a), line 30 (must a	gree		
_		with end-of-year figure reported on prior year's return)		_	. 1	1,493,941
2		Enter amount from Part I, line 27a			. 2	24,331
- 3		Other increases not included in line 2 (itemize)		-	3	
4		Add lines 1, 2, and 3		.	. 4	1,518,272
5		Decreases not included in line 2 (itemize) ►			5	· · ·
5	_	Total net assets or fund balances at end of year (line 4 minus line 5)—f		ine 30	. 6	1,518,272

		e kınd(s) of property sold (e g , re se, or common stock, 200 shs M		(b) How acquired P—Purchase D—Donation	(c) Date acquired (mo , day, yr)	(d) Date sold (mo , day, yr)		
1 a	GREENLEAF TRUST Pu	blicly Traded Securities						
b	Capital Gain Dividends							
С								
d								
e								
(€	e) Gross sales price	(f) Depreciation allowed (or allowable)		t or other basıs opense of sale		or (loss)) mınus (g)		
а	545,	733		428,72	5	117,008		
b								
С						254		
d								
е								
Со	mplete only for assets sho	wing gain in column (h) and owne	d by the foundation	n on 12/31/69	(I) Gains (Col	(h) gain minus		
(i) F M V as of 12/31/69 (j) Adjusted basis as of 12/31/69				cess of col (ı) col (ʒ), ıf any	col (k), but not less than -0-) or Losses (from col (h))			
a						117,008		
b								
С								
d								
e								
2	Capital gain net income		If gaın, also enter If (loss), enter -0-		2	117,262		
3	Net short-term capital q	jain or (loss) as defined in section	ns 1222(5) and (6	,	_			
•		t I, line 8, column (c) (see instru						
	in Part I, line 8	t i, line 8, column (c) (see instru				117.000		
Part		der Section 4940(e) for R		,	3 	117,008		
Vas the f"Yes,	," the foundation does not c	ection 4942 tax on the distributa qualify under section 4940(e) Do	not complete this	part		┌ Yes ┌ No		
1 E n	ter the appropriate amount	in each column for each year, se	ee page 18 of the 11	nstructions before	making any entries			
	(a) e period years Calendar or tax year beginning in)	(b) Adjusted qualifying distributions	(c) Net value of noncha		(d) Distribution ratio (col (b) divided by col (c))			
, (2012	87,155		1,737,368	(0 05017		
	2011	78,857		1,743,295		0 04523		
	2010	72,509		1,649,190		0 04397		
	2009	98,121		1,316,460		0 07453		
	2008	82,325		1,608,043		0 05120		
2	Total of line 1 , column (a	d)			2	0 26510		
3	,	•		e 2 by 5. or by				
3 A verage distribution ratio for the 5-year base period—divide the total on the number of years the foundation has been in existence if less than 5 y					3			
			: II less than 5 yea	rs <u> </u>	-	0 0530		
4	Enter the net value of no				4			
4 5		foundation has been in existence				2,024,499		
	Multiply line 4 by line 3.	foundation has been in existence on charitable-use assets for 2013	From Part X, line 5	5	4	2,024,499		
5	Multiply line 4 by line 3.	foundation has been in existence on charitable-use assets for 2013	From Part X, line 5	5	5	0 0530; 2,024,499 107,337 1,489 108,826		
5 6	Multiply line 4 by line 3. Enter 1% of net investm Add lines 5 and 6 Enter qualifying distribut	foundation has been in existence on charitable-use assets for 2013	From Part X, line 5	5	4 5 6 7 8	2,024,49 107,33 1,48 108,83		

	990-PF (2013) **Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see page 18 of the inst	ructio		age 4
1a	Exempt operating foundations described in section 4940(d)(2), check here T and enter "N/A"	Tuctio	115)	
14	on line 1			
	Date of ruling or determination letter (attach copy of letter if necessary–see instructions)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check		Í	1,489
	here ► 🔽 and enter 1% of Part I, line 27b			
c	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12, col (b)			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			
3	Add lines 1 and 2		1	L,489
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0 5			L,489
6	Credits/Payments			
а	2013 estimated tax payments and 2012 overpayment credited to 2013 6a 12,678			
b	Exempt foreign organizations—tax withheld at source 6b			
c	Tax paid with application for extension of time to file (Form 8868) 6c			
d	Backup withholding erroneously withheld 6d			
7	Total credits and payments Add lines 6a through 6d		12	,678
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached.			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed 9			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid • 10		11	,189
11	Enter the amount of line 10 to be Credited to 2014 estimated tax 11,189 Refunded 11			
Par	t VII-A Statements Regarding Activities			
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did		Yes	No
	ıt partıcıpate or ıntervene ın any political campaign?	1a		No
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see page 19 of			
	the instructions for definition)?	1b		No
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials			
	published or distributed by the foundation in connection with the activities.			
	Did the foundation file Form 1120-POL for this year?	1c		No
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year (1) On the foundation \$\text{\$\texi{\$\text{\$\tex{\$\text{\$\text{\$\text{\$\text{\$\text{\$\text{\$\text{\$\text{\$\text{\$			
e	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed			
	on foundation managers > \$			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		No
_	If "Yes," attach a detailed description of the activities.			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles			
_	of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		No
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		No
ь	If "Yes," has it filed a tax return on Form 990-T for this year?	4b		No
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		No
	If "Yes," attach the statement required by General Instruction T.			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either			
	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions			
	that conflict with the state law remain in the governing instrument?	6	Yes	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV.	7	Yes	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)			
L	►MI If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney			
D	General (or designate) of each state as required by General Instruction G? If "No," attach explanation.	8b	Yes	
9	Is the foundation claiming status as a private operating foundation within the meaning of section $4942(j)(3)$. 53	
3	or 4942(j)(5) for calendar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)?			
	If "Yes," complete Part XIV	9		No
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names			
	and addresses.	10		No

11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		No
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had			
	advisory privileges? If "Yes," attach statement (see instructions)	12		No
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Yes	
	Website address ►N/A			
			2400	
14	The books are in care of ►ELAINE FIELDMAN Telephone no ►(248)	649-	3400	
	Located at ►2738 TURTLE RIDGE DRIVE BLOOMFIELD MI ZIP+4 ►48302			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 —Check here		!	▶ ┌
	and enter the amount of tax-exempt interest received or accrued during the year			
16	At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority over		Yes	No
	a bank, securities, or other financial account in a foreign country?	16		No
	See instructions for exceptions and filing requirements for Form TD F 90-22 1 If "Yes", enter the name of the			
	foreign country 🕨			
Pai	t VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly)			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes Vo			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes V No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	ıf the foundatıon agreed to make a grant to or to employ the official for a period			
	after termination of government service, if terminating within 90 days) Yes 🔽 No			
b	If any answer is "Yes" to $1a(1)-(6)$, did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)?	1b		No
	Organizations relying on a current notice regarding disaster assistance check here			
c	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts,			
	that were not corrected before the first day of the tax year beginning in 2013?	1c		No
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			
	operating foundation defined in section 4942(j)(3) or 4942(j)(5))			
а	At the end of tax year 2013, did the foundation have any undistributed income (lines 6d			
	and 6e, Part XIII) for tax year(s) beginning before 2013?			
	If "Yes," list the years 🕨 20			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2)			
	to all years listed, answer "No" and attach statement—see instructions)	2b		No
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
	▶ 20, 20, 20			
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at			
	any time during the year?			
b	If "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation			
	or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved			
	by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3)			
	the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine			
	If the foundation had excess business holdings in 2013.).	3b		No
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		No
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		No

Pai	rt VII-B	Statements Rega	rdir	ng Activities for	Wŀ	ich Form 4720	May	Be Required (cont	inue	d)		
5a		year did the foundation					•	•				
		on propaganda, or othe				ıslatıon (section 49	45(e))?	No			
		nce the outcome of any		· ·	_	· ·	-	• • • • • • • • • • • • • • • • • • • •				
		ectly or indirectly, any							- No			
		le a grant to an individi		_			•	☐ Yes ☐				
		le a grant to an organiz					scrit					
								「Yes 「	- No			
							•		140			
				n religious, charitable, scientific, literary, or revention of cruelty to children or animals?								
h								exceptions described in				
		ns section 53 4945 or				5b	No					
								<u></u>	_	70	140	
	=	· -										
С		· · · · · · · · · · · · · · · · · · ·	-		does the foundation claim exemption from the esponsibility for the grant?							
							•	Yes	NO			
		ttach the statement requ										
6a		undation, during the ye							_			
	•	I benefit contract?										
b	Did the fo	undation, during the ye	ar, pa	y premiums, directly	y orı	ndirectly, on a perso	nal	benefit contract?		6b	No	
	If "Yes" to	6b, file Form 8870.										
7a	At any tın	ne during the tax year,	was tl	ne foundation a party	/ to a	a prohibited tax shel	tert	ransaction? TYes F	No			
b	If yes, dic	the foundation receive	any	proceeds or have an	y ne	t income attributable	e to t	the transaction?		7b	No	
Dai	33874888		t Of	ficers, Directors	s, Tı	rustees, Founda	tio	n Managers, Highly	Paid	Emp	loyees,	
		and Contractors										
1	List all off	icers, directors, trustee	 	_			see i	<u>-</u>	Ι			
	(a) Nai	ne and address	(0)	Title, and average hours per week		c) Compensation If not paid, enter	 e	(d) Contributions to mployee benefit plans			e account,	
	(4)	ne and address	d	evoted to position	`	-0-)		deferred compensation	other allowances			
ELAIN	E S FIELDMAN	l	Pres	s/DIR		0						
273	8 TURTLE	RIDGE DRIVE	1 00	0								
	OMFIELD,	MI 48302										
MARK	A SIMS			/DIR		0						
	GLENGAR		0 00)								
-		HILLS,MI 48301										
	RT E KASS		ASS 0 00	ST SEC		0						
	1 WEST FO ROIT,MI -	RT ST STE 1500	1000	,								
	<u>.</u>		d omr	lovoce (other than	thoc	o included on line 1	500	instructions). If none, e	-tor"	NONE '	1	
	Compensat	ion of Tive highest-par	a emp			e incidded on line 1-	See	(d) Contributions to		TOIL.		
(a)	Name and	address of each emplo	yee	(b) Title, and aver hours per week		(a) Componentia	_	employee benefit	(e) l	Expens	e account,	
	paıd n	nore than \$50,000		devoted to positive		(c) Compensation	П	plans and deferred	ot	her all	owances	
								compensation				
NOV	IE											
				1								
				1								
				1								
	1	ather employees nord		<u> </u>		<u> </u>		<u> </u>	-			

Part VIII Information About Officers, Directors, Trust and Contractors (continued)	ees, Foundation Managers, Higl	hly Paid Employees,
3 Five highest-paid independent contractors for professional services	(see instructions). If none, enter "NONE	".
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
Tabel number of able an arrangement of the control		<u> </u>
Total number of others receiving over \$50,000 for professional services.		<u> </u>
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include re		of Expenses
organizations and other beneficiaries served, conferences convened, research papers prod	duced, etc	
2		
3		
4		
Part IX-B Summary of Program-Related Investments	(see instructions)	
Describe the two largest program-related investments made by the foundation during	•	A mount
1		
2		
All other program-related investments See page 24 of the instruction	s	
3		
Total. Add lines 1 through 3		•

Pa	Minimum Investment Return (All domestic foundations must complete this part. Fo see instructions.)	reign	foundations,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc ,		
	purposes		
а	Average monthly fair market value of securities	1a	1,984,700
b	Average of monthly cash balances	1b	70,629
c	Fair market value of all other assets (see instructions)	1c	0
d	Total (add lines 1a, b, and c)	1d	2,055,329
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	2,055,329
4	Cash deemed held for charitable activities $$ Enter 1 $$ 1/2 $$ % of line 3 (for greater amount, see		
	ınstructions)	4	30,830
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	2,024,499
6	Minimum investment return. Enter 5% of line 5	6	101,225
Par	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operations	atıng	foundations and
	certain foreign organizations check here 🕨 I and do not complete this part.)	1	T
1	Minimum investment return from Part X, line 6	1	101,225
2a	Tax on investment income for 2013 from Part VI, line 5		
b	Income tax for 2013 (This does not include the tax from Part VI) 2b		
С	Add lines 2a and 2b	2c	1,489
3	Distributable amount before adjustments Subtract line 2c from line 1	3	99,736
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	99,736
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII,		
	line 1	7	99,736
Par	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc , purposes		
а	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1a	124,520
b	Program-related investments—total from Part IX-B	1b	
2	A mounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc ,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	За	
ь	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	124,520
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	income Enter 1% of Part I, line 27b (see instructions)	5	1,489
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	123 031

Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for

the section 4940(e) reduction of tax in those years

For	m 990-PF (2013)				Page 9
P	art XIII Undistributed Income (see instru	uctions)			1
		(a)	(b)	(c)	(d)
4	Distributable amount for 2012 from Bart VI, line 7	Corpus	Years prior to 2012	2012	2013
	Distributable amount for 2013 from Part XI, line 7				35,730
	Undistributed income, if any, as of the end of 2013				
a	, , , , , , , , , , , , , , , , , , ,				
	Total for prior years 20, 20, 20				
3	Excess distributions carryover, if any, to 2013				
a	From 2008				
6	From 2010				
4	From 2011				
u	From 2012 1,019				
	Total of lines 3a through e	19,151			
	Qualifying distributions for 2013 from Part	,			
•	XII, line 4 \$ 124,520				
а	Applied to 2012, but not more than line 2a				
	Applied to undistributed income of prior years				
_	(Election required—see instructions)				
c	Treated as distributions out of corpus (Election				
	required—see instructions)	0			
d	Applied to 2013 distributable amount				99,736
е	Remaining amount distributed out of corpus	24,784			
5	Excess distributions carryover applied to 2013				
	(If an amount appears in column (d), the				
	same amount must be shown in column (a).)				
6	Enter the net total of each column as				
_	indicated below:	43,935			
	Corpus Add lines 3f, 4c, and 4e Subtract line 5	+3,333			
D	Prior years' undistributed income Subtract line 4b from line 2b				
_	Enter the amount of prior years' undistributed				
_	income for which a notice of deficiency has				
	been issued, or on which the section 4942(a)				
	tax has been previously assessed				
d	Subtract line 6c from line 6b Taxable amount				
_	—see instructions				
е	4a from line 2a Taxable amount—see				
	instructions				
f	Undistributed income for 2013 Subtract				
	lines 4d and 5 from line 1 This amount must				
	be distributed in 2014				0
7	A mounts treated as distributions out of				
	corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (see				
	instructions)				
8	Excess distributions carryover from 2008 not				
	applied on line 5 or line 7 (see instructions)				
9	Excess distributions carryover to 2014.	43,935			
_	Subtract lines 7 and 8 from line 6a	43,935			
	Analysis of line 9				
	Excess from 2009 18,132				
	Excess from 2010				
	Excess from 2011				
	Excess from 2012				
~					

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other

c Any submission deadlines

factors

Form **990-PF** (2013)

3 Grants and Contributions Paid		proved for F	uture Payment	
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	A mount
Name and address (home or business)	or substantial contributor	recipient	Contribution	
a Paid during the year See Additional Data Table	or substantial contributor	recipient		
Total	<u> </u>	<u> </u>	3a	124,500
			<u> </u>	

Form 990-		na Activitia	\ <u></u>			Page 12
	Analysis of Income-Produci		usiness income	Excluded by section	n 512, 513, or 514	(e)
-	n service revenue	(a) Business code	(b) A mount	(c) Exclusion code	(d) A mount	Related or exempt function income (See instructions)
						,
с						
e						
g Fees	and contracts from government agencies					
3 Interes	rship dues and assessments st on savings and temporary cash ments					
	nds and interest from securities ntal income or (loss) from real estate			14	41,539	
a Debt-	financed property ebt-financed property					
6 Net rer	ntal income or (loss) from personal					
8 Gain or	nvestment income r (loss) from sales of assets other than					
	ory			18	117,262	
	profit or (loss) from sales of inventory evenue a					
ь						
d						
12 Subtota	al Add columns (b), (d), and (e)				158,801	
(See w	Add line 12, columns (b), (d), and (e) orksheet in line 13 instructions to verify ca	alculations)				158,801
Part XVI Line No.	Explain below how each activity for whice the accomplishment of the foundation's instructions)	h income is re	ported ın column ((e) of Part XVI-A c	ontributed importa	
-						

Part XV	Information Re Noncharitable				nsactio	ns and	Relationships	With		, ,	<u>gc =</u>
	organization directly or ir 501(c) of the Code (othe	ndırectly e	ngage	ın any of the following						Yes	No
organiza	ations?										
a Transfe	rs from the reporting foun	dation to	a nonc	harıtable exempt orgaı	nization of						ĺ
(1) Cas	sh								1a(1)		No
(2) Oth	nerassets								1a(2)		No
	ansactions										
(1) Sal	es of assets to a nonchai	ritable exe	empt o	rganızatıon					1b(1)		No
(2) Pur	chases of assets from a	noncharita	able ex	cempt organization					. 1b(2)		No
	ntal of facilities, equipmei										No
	mbursement arrangemen								1b(4)		No
	ins or loan guarantees.								1b(5)		No
	ormance of services or m								1b(6)		No
	of facilities, equipment, r										No
	nswer to any of the above									lue lue	140
ın any tı	oods, other assets, or sei	angement,	show	in column (d) the value	e of the go	ods, othe	er assets, or servic	es receive	ed		
(a) Line No	(b) Amount involved	(c) Name	of nonci	harıtable exempt organizatio	on (a)	Description	n of transfers, transact	ions, and sha	aring arra	ngemer	its
describe	oundation directly or indir ed in section 501(c) of th " complete the following s	e Code (o schedule							.F _Y e	es F	7 No
	(a) Name of organization	1		(b) Type of organ	nization		(c) Descrip	tion of relati	onship		
						_					
the			ıt ıs trı	ue, correct, and comple	te Decla		ompanying schedules and statements, ar f preparer (other than taxpayer or fiduciar ** May the IRS discuss this i			ciary)	IS urn
	Signature of officer or tr	ustee		Date	— ,	Title			r) ⁷ v Ye		
Paid Prepare	Print/Type preparer's URSULA C SCROGO CPA		Prepa	rer's Signature	Date		Check if self- employed ▶	PTIN P	001250	062	
Use Only	Firm's name ▶	Derde	rıan Ka	ann Seyferth & Saluccı	PC		Firm's EIN ►				
,	Fırm's address ▶	Firm's address 3001 West Big Beaver Suite 700 Troy, MI 480843108 Phone no (248) 649-3400									_

Form 990PF Part XV Line 3 - Grants and Contributions Paid During the Year or Approved for Future Payment

Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	A mount
Name and address (home or business)	any foundation manager or substantial contributor	recipient		
a Paid during the year				
DETROIT ZOOLOGICAL SOCIETY 8450 W 10 MILE ROAD ROYAL OAK, MI 48067	NONE	501C3	PROVIDE SUPPORT FOR CONSERVATION SCIENCE, ANIMAL CARE, AND PUBLIC EDUCATION	2,500
LIGHTHOUSE OF OAKLAND COUNTY 46156 WOODWARD AVE PONTIAC,MI 48342	NONE	501C3	SUPPORT TRANSITIONAL HOUSING FOR HOMELESS MOTHERS/CHILDREN	2,000
JVS 29699 SOUTHFIELD ROAD SOUTHFIELD,MI 48076	NONE	501C3	SUPPORT EDUCATIONAL PROGRAM	25,000
JEWISH FEDERATION OF DETROIT 6735 TELEGRAPH ROAD BLOOMFIELD,MI 48303	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	2,000
IISHJ 28611 W 12 MILE ROAD FARMINGTON HILLS,MI 48334	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	5,000
DETROIT COUNTRY DAY SCHOOLS 22305 13 MILE ROAD BEVERLY HILLS,MI 48025	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	1,000
DETROIT INSTITUTE OF ARTS 5200 WOODWARD AVE DETROIT, MI 48202	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	1,500
EASTERN MI UNIVERSITY FOUNDATION 1349 S HURON STREET YPSILANTI,MI 48197	NONE	501C3	SUPPORT TECHNOLOGY FUND	1,500
MICHIGAN STATE UNIVERSITY COLLEGE O 648 N SHAW LANE 368 EAST LANSING, MI 48824	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	10,000
NATIONAL FRAGILE X FOUNDATION 1615 BONANZA STREET 202 WALNUT CREEK,CA 94596	NONE	501C3	SUPPORT RESEARCH PROGRAMS	1,000
GLEANERS COMM FOOD BANK OF SE MI 2131 BEAUFAIT DETROIT, MI 48207	NONE	501C3	NOURISHING COMMUNITIES BY FEEDING HUNGRY PEOPLE	750
HENRY FORD HEALTH SYSTEMS 1 FORD PLACE DETROIT, MI 48202	NONE	501C3	IMPROVE HUMAN LIFE THROUGH EXCELLENCE IN HEALTH CARE	10,000
MICHIGAN HUMANE SOCIETY 30300 TELEGRAPH ROAD BINGHAM FARMS,MI 48025	NONE	501C3	SUPPORT ANIMAL WELFARE	1,000
PLANNED PARENTHOOD 3100 PROFESSIONAL DRIVE ANN ARBOR,MI 48104	NONE	501C3	SUPPORT HEALTH CARE PROGRAMS	1,500
WASHINGTON UNIVERSITY IN ST LOUIS 7425 FORSYTH ST LOUIS,MO 63105	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	2,000
Total				124,500

Form 990PF Part XV Line 3 - Grants and Contributions Paid During the Year or Approved for Future Payment

Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	A mount
Name and address (home or business)	any foundation manager or substantial contributor	recipient		
a Paid during the year				
CENTER FOR INQUIRY PO BOX 741 AMHERST, NY 14226	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	1,000
FREEDOM FROM RELIGION FOUNDATION PO BOX 750 MADISON,WI 53701	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	1,000
NORTHERN ARIZONA UNIVERSITY FOUNDAT PO BOX 4094 FLAGSTAFF,AZ 86011	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	500
CONGREGATION FOR HUMANISTIC JUDAISM 28611 WEST TWELVE MILE ROAD FARMINGTON HILLS, MI 48334	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	1,000
DETROIT SYMPHONY ORCHESTRA 3711 WOODWARD AVENUE DETROIT,MI 48201	NONE	501C3	SUPPORT MUSICAL AND EDUCATIONAL PROGRAMS	1,000
HEIFER INTERNATIONAL 1 WORLD AVENUE LITTLE ROCK, AR 72202	NONE	501C3	TO END HUNGER AND POVERTY	250
UNIVERSITY OF MICHIGAN 3003 SOUTH STATE STREET 8000 ANN ARBOR,MI 48109	NONE	501C3	NEUROLOGY RESEARCH & DISCOVERY	3,000
BIRMINGHAM TEMPLE 28611 WEST TWELVE MILE ROAD FARMINGTON HILLS, MI 48334	NONE	501C3	SUPPORT EDUCATIONAL PROGRAMS	50,000
Total				124,500

TY 2013 Other Assets Schedule

Name: FIELDMAN SIMS FOUNDATION

EIN: 38-3638470

Software ID: 13000170

Software Version: 2013v3.1

Description	Beginning of Year -	End of Year - Book	End of Year - Fair
	Book Value	Value	Market Value
OTHER INVESTMENTS	3,916	3,641	

efile GRAPHIC print - DO NOT PROCESS | As Filed Data - DLN: 93491134006314

TY 2013 Other Professional Fees Schedule

Name: FIELDMAN SIMS FOUNDATION

EIN: 38-3638470

Software ID: 13000170

Software Version: 2013v3.1

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
INVESTMENT FEES	9,409	9,409	0	0

TY 2013 Taxes Schedule

Name: FIELDMAN SIMS FOUNDATION

EIN: 38-3638470

Software ID: 13000170

Software Version: 2013v3.1

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
foreign taxes	541	541		
TAX - OTHER	20			20





January 01, 2013 To December 31, 2013

Account Name: Fieldman Sims Foundation

Account No : 91600022

Summary Of Investment Holdings

Shares or	Investment .	Avg Unit	Cost	Unit	Market	Estimated (Current
Par Value	Category	Cost	Basis	Price	Value	Ann Inc	Yield
	Common Stock				···	-	
350	3M Company	74.35	26,023.51	140.25	49,087.50	1,197.00	2.44%
500	AbbVie Inc	26 62	13,308.49	52.81	26,405.00	800.00	3.03%
320	Ace Limited	77.61	24,834.98	103 53	33,129.60	806.40	2.43%
450	AFLAC Inc	64.24	28,907.78	66.80	30,060.00	666.00	2.22%
480	Albemarle Corp	55 18	26,486.13 24,432,34	63 39	30,427.20	460.80	1.51%
700	American International Group Inc	29.06	29,944.39 -	51 05	35,735.00	280.00	0.78%
200	Amgen Inc	58.38	11,675.98	114.08	22,816.00	488.00	2.14%
60	Apple Inc	542.03	32,521.56	561.02	33,661.20	732.00	2.17%
750	Avago Technologies Ltd	32.97	24,725.08	52 88	39,659.25	750.00	1.89%
800	Borg Warner Inc	20.64	16,509.64	55 91	44,728.00	400 00	0.89%
800	Bristol Myers Squibb Co	24.83	19,866.77	53.15	42,520.00	1,152 00	2.71%
1,050	Broadndge Financial Solutions	27.24	28,606.83	39 52	41,496 00	882.00	2.13%
400	Cemer Corp	18.78	7,511.39	55.74	22,296.00	0.00	0.00%
860	Check Point Software Technologies	50.49	43,424 41	64.50	55,469.14	0.00	0.00%
1,000	Coca Cola Co	23.83	23,829 00	41.31	41,310.00	1,120 00	2 71%
1,000	Corncast Corp New Cl A Spl	21.47	21,474.84	49.88	49,880.00	780.00	1.56%
1,600	Denbury Res Inc Hidg Co	16.00	25,606.40	16.43	26,288.00	0.00	0.00%
125	Discovery Communications CL C	13.29	1,661 84	83.86	10,482.50	0.00	0.00%
365	Dover Corporation	72.18	26,346.39	96.54	35,237.10	547.50	1.55%
300	Emerson Electric Co	30.87	9,261.18	70.18	21,054.00	516.00	2.45%
590	Franklin Resources Inc	49.03	28,929.53	57.73	34,060.70	283.20	0.83%
20	Google Inc CI A	609.10	12,181.93	1,120 71	22,414.20	0.00	0.00%
700	Harman International Industries Inc	33 12	23,186.90	81 85	57,295.00	840 00	1.47%
800	IAC/InterActiveCorp	57.91 [,]	46,328.63	68 65	54,920 80	768 00	1 40%
135	IBM Corp	192 63	26,005.04	187 57	25,321 95	513.00	2 03%

Port Sum and Holdings - HLDOHB

Page 5



GREENLEAF' TRUST

January 01, 2013 To December 31, 2013

Account Name: Fieldman Sims Foundation

Account No: 91600022

Summary Of Investment Holdings

Shares or	Investment	Avg Unit	Cost	Unit	Market	Estimated (Current
Par Value	Category	Cost	Basis	Price	Value	Ann Inc	Yield
600	Illumina Inc	34.14	20,486.23	110.59	66,354.00	0.00	0.00%
300	Johnson & Johnson	61.95	18,584.23	91.59	27,477.00	792.00	2.88%
900	Lamar Advertising Co Cl A	28.46	25,609.75	52.25	47,025.00	0.00	0.00%
700	Luxottica Group Sponsored ADR	28.47	19,927 82	53.92	37,744.00	419.87	1.11%
80	Markel Corp	514.42	41,153 82	580.35	46,428.00	0.00	0.00%
100	Mastercard Inc	243.90	24,389.72	835.46	83,546 00	440.00	0.53%
300	Mc Cormick & Co	29.29	8,787.61	68.92	20,676 00	444 00	2.15%
800	Merck & Co Inc New	31.11	24,889.28	50.05	40,040.00	1,408.00	3.52%
1,000	Microchip Technology Inc	25.49	25,489.13	44.75	44,750.00	1,418.00	3.17%
380	National Oilwell Varco Inc	83.66	31,791.79	79.53	30,221.40	395.20	1.31%
880	Netapp Inc	27.91	24,563.18	41.14	36,203.20	528.00	1.46%
370	Norfolk Southern Corp	73.73	27,281 17	92.83	34,347.10	769.60	2.24%
540	Omnicom Group Inc	47.38	25,584 01	74.37	40,159.80	864.00	2.15%
300	Pepsico Inc	64.10	19,230.95	82.94	24,882.00	681.00	2.74%
300	Qualcomm Inc	15.41	4,621.50	74.25	22,275 00	420.00	1 89%
300	Shire Plc ADR	96 99	29,096.22	141.29	42,387 00	158 40	0 37%
300	Stericycle Inc	56.81	17,043.58	116 17	34,851 00	0.00	0.00%
770	Suncor Energy inc New ADR	32.66	25,150.82	35 05	26,988.50	580.01	2.15%
680	Target Corp	66 35	45,119.48	63.27	43,023.60	1,169.60	2.72%
200	Thermo Fischer Scientific Inc	35 33	7,065.50	111.35	22,270.00	120 00	0.54%
700	Time Warner Inc New	31.53	22,074.42	69.72	48,804.00	805.00	1.65%
200	United Technologies Corp	49.27	9,853.64	113.80	22,760.00	472.00	2.07%
700	Verizon Communications	31.92	22,344 11	49.14	34,398.00	1,484.00	4.31%
400	Walt Disney Co	19.09	7,634.03	76.40	30,560.00	344.00	1 13%
1,040	Wells Fargo & Co	36.40	37,858.10	45.40	47,216.00	1,248 00	2 64%

Port Sum and Holdings - HLDOHB





January 01, 2013 To December 31, 2013

Account Name: Fieldman Sims Foundation

Account No : 91600022

Summary Of Investment Holdings

Shares or	Investment	Avg Unit	Cost	Unit	Market	Estimated (Curren
Par Value	Category	Cost	Basis	Price	Value	Ann Inc	Yiel
	Totals		1,135,188.71		1,841,140.74	28,942.58	1.579
	Exchange Traded Fds-Equity						
1,600	Alenan MLP	15.87	25,397.44	17.79	28,464.00	1,708.80	6.00%
585	Vanguard MSCI Emerging Markets ETF	41.48	24,265.86	41.14	24,066.90	658.13	2.73%
535	Wisdomtree Emerging Markets Small Cap	46.23	24,732.78	46.09	24,658.15	851.11	3.45%
690	Wisdomtree ETF Emerging Markets Equity Inc	52.70	36,365.14	51.03	35,210.70	1,443.58	4 10%
	Totals		110,761.22		112,399.75	4,661.62	4.15%
	Mutual Fund-Equity						
2,593 361	AlphaSimplex Managed Futures Strategy Fd Cl Y	9 64	25,000.00	10 26	26,607.88	0.52	0.00%
1,841.518	Delaware Emerging Market	13.44	24,750.00	16.27	29,961.50	283 59	0.95%
1,574 53	Matthews Pacific Tiger Fund CI I	23.68	37,281 88	24.97	39,316 01	0.00	0.00%
2,313 78	Touchstone Merger Arbitrage Fund Cl I	11.12	25,732 10	10.80	24,988.82	186.25	0.75%
	Totals	<u></u>	112,763.98		120,874.21	470.36	0.39%
	Mutual Fund-Equity-Intl						
1,433.121	Calamos International Growth Fund Ci I	17.27	24,750.00	20.16	28,891.72	194.23	0.67%
	Totals		24,750.00	· ·	28,891.72	194.23	0.67%
	Global Real Estate						
1,341.202	ING Global Real Estate	18.64	25,000.00	18.32	24,570 82	575 11	2.34%
	Totals		25,000.00		24,570.82	575.11	2.34%
	Mutual Fund-Fixed Income						
5,048.381	Fidelity Floating Rate High Income	9.94	50,181.09	9.96	50,281.87	1,558.22	3.10%
1,858 476	Templeton Global Bond Fund Advisor Cl	13.62	25,320.51	13 09	24,327.45	953.77	3.92%

Port Sum and Holdings - HLDOHB

Page 7



January 01, 2013 To December 31, 2013

Account Name: Fieldman Sims Foundation

Account No: 91600022

Summary Of Investmen	t Holdings
----------------------	------------

Shares or Par Value	Investment Category		Avg Unit Cost	Cost Basis	Unit Price	Market Value	Estimated (Curren Yiek
		Totals		75,501.60		74,609.32	2,511.99	3.37%
	Мопеу	Market Funds-Taxable						
27,182.81	Northern Instituti	onal Treasury Portfolio	100.00	27,182.81	100.00	27,182.81	2.72	0 01%
		Totals	_	27,182.81		27,182.81	2.72	0.01%
		Investments let Cash		1,511,148.32 . 1,515,236		2,229,669.37 0.00	37,358.61	1.68%
	Total l	Market Value	٠			2,229,669.37		
	2	SAVINGS		21,183		27,183		
	10b.	CORPORATE STOCK	1,4	188,053	2,	202,48	6	
			****		_			

Page 8